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  1 

 

 

a)  9,3 x 105   m)  𝑎 × 𝑎 × 𝑎 × 𝑎 × 𝑎  

b)  (–4)3 – (–3)2  n)  2𝑎2 × (−3𝑎2)3  

c)  
4

3
+ 

2

3
 ×  

7

8
  o)  4𝑥2  ×   𝑥  ×  5𝑥3  

d)  √1,21  p)  3𝑥(2𝑥 – 4) – 𝑥  

e)  
 

q)  
𝑎10

𝑎5
  

f)  
a = 2; b = –1 

 3aa – 2ab – b2 =  
r)  

𝑥

𝑦
 ÷  

𝑥3

𝑦3
  

g)  4(𝑥𝑦𝑧)0  s)  –2𝑥3 + 5𝑥2 – 3𝑥3 + 𝑥2  

h)  
6𝑥2−15𝑥

3𝑥
  t)  

3; 5; 7; 9; ..... 

Tn = 

Los 𝒙 op: 

i) 𝑥 − 5 = 30  
u)  

 j)  
𝑥

−7
= 3  

 

k)  5𝑥 –  4 =  8 –  𝑥  
v)  

 
𝑥 = ..................... (hoekom?) l)  3𝑥2  =  48  

 



  2 

 

 

 

a)  100 – 110  m)  5b(–b2 – 2b + 5)  

b)  
−4+(−5)(−4)

(2)(−2)
  n)  

2𝑥4+ 𝑥3

𝑥2
+ 3𝑥2  

c)  
2

3
 × 26

5

8
  o)  

−3𝑥(2𝑥−3)

−𝑥
  

d)  √
16

25
+ 0,36  p)  7𝑥 − 𝑦 − (𝑥 − 3𝑦) –  𝑦  

e)  
−3

8
 = ...0,................. q)  2𝑎2𝑏 x (-5𝑎𝑏2) x (-𝑎𝑏)3  

f)  𝑎3 × 𝑎3  r)  𝑥2 − 2 − 5𝑥 + 3 − 3𝑥2  

g)  
(2𝑥2)2× 2𝑦2

4𝑦𝑥3
  s)  

𝑚 =  −2;  𝑛 =  4  

𝑚𝑛 + 2𝑚𝑛 + 3𝑚 = 

h)  √125𝑥153
  t)  

Tn = 4n – 3  

T25 = ................................ 

Los 𝒙 op: 

i) 14 – 4𝑥 = 7𝑥 – 8 
u)  

 

𝑦 = ........ 𝑥  ....................... 
j)  

1

5
𝑥 = 20  

 

k)  6(𝑥 –  2) =  3(𝑥 +  8)  
v)  

 
𝑥 = ..................°  (hoekom?) l)  3𝑥 = 21  

 



  3 

 

 

 

a)  42 ÷ (–6) x (–2)  m)  −3𝑥 –  3𝑥 –  3𝑥   

b)  1
7

8
 x 

4

5
  − 

1

6
  n)  (−3𝑎)(−3𝑎)(−3𝑎)  

c)  (0,01)3  o)  (−2𝑥3)2  

d)  √1
2

25
+ 

36

100
   p)  √27𝑎273

   

e)  
 

q)  4𝑎2 − 2𝑎(−4𝑎2 + 2𝑎)  

f)  𝑥(8𝑥 + 2)  r)  2𝑥2 + 3𝑥2 ×  −2𝑥  

g)  
−48𝑎6𝑏6

36𝑎3𝑏9
  s)  

a = 2; b = -4; c = 5 

2𝑎 − 𝑏 + 3𝑐 = 

h)  
2𝑎2−6𝑎3

2𝑎
  t)  

1; 4; 9; 16; ..... 

Tn =  ............................... 

Los 𝒙 op: 

i) –2𝑥 – 1 = 13 
u)  

 
j)  2(4𝑥 + 2) = 12  

 

k)  
4𝑥

5
 = –8 

v)  

 

Area = ............................... l)  𝑥 – 7 = –𝑥 + 1 
 



  4 

 

 

a)  –11 – (3 – 7)  m)  
12𝑥6

25𝑦
 ÷  

24𝑦4

−5𝑥5
  

b)  –1
1

2
 + 2

1

7
  n)  √25𝑎10 − 9𝑎10  

c)  2 x 23 x 26   o)  𝑎2 − 9𝑎 + 3𝑎2 + 4𝑎  

d)  √82 + 62   p)  
1

3
𝑎 +  

4

5
𝑎 − 1

2

3
𝑎  

e)  

 
q)  4𝑥(𝑥 + 2𝑥 − 3𝑦)  

f)  −2(2𝑎3𝑏4)2  r)  𝑥 + 𝑥 × 𝑥 − 𝑥  

g)  (2𝑎3)(−4𝑎3)  s)  
𝑎 =  −8; 

 (
3𝑎

4
)2 = 

h)  
9𝑎4−6𝑎(𝑎2)2

3𝑎2
  t)  

-13; -2; 9; ..... 

Tn = ................................ 

Los 𝒙 op: 

i) −2𝑥 + 2 =  −4  
u)  𝑦 =  𝑥2 − 3, voltooi 

 j)  2𝑥 –  6 =  2(3 –  5𝑥)  
 

k)  
𝑥−2

4
− 4 = 0  

v)  

 

𝑥 = ...................°  (hoekom?) l)  𝑥2 = 64  
 



  5 

 

 

 

a)  (32)5  m)  −2𝑥𝑦 + 3𝑥 + 4 + 4𝑥𝑦 − 𝑥  

b)  (
2

3
+ 

4

3
) ×

7

8
  n)  3𝑥(2𝑥 − 5)  

c)  √1764  o)  (−5𝑎)(2𝑎)(−3)  

d)  – (13 + 6 – 7) – 8  p)  (4𝑥3)2(2𝑦4)  

e)  
12

25
 = 0,..................... q)  4𝑥𝑦2 ÷ 

−4𝑥𝑦2

2𝑥2𝑦
  

f)  √
250𝑥14

2𝑥2

3

  r)  6𝑥0 + 6(𝑥 − 1)  

g)  
𝑎3𝑏𝑐6

𝑎2𝑏𝑐
  s)  -6: 12; -24; .......; -96; 192 

h)  
6𝑥3− 𝑥2

𝑥2
  t)  

a = -1; b = 2; c = -3 

2𝑎𝑏𝑐 = 

Los 𝒙 op: 

i) 2𝑥 + 4 = 𝑥 + 8  
u)  Voltooi (direkte eweredigheid) 

 j)  √𝑥 −  1 = 11  
 

k)  
𝑥

3
= 9  

v)  

 
𝑥 = ....................°  (hoekom?) l)  2𝑥2 = 32  

 



  6 

 

 

 

a)  (25)2 ÷ 26  m)  −2𝑎(4𝑎2 − 5𝑎 − 3)  

b)  √27 × 216
3

  n)  5𝑥 × 4𝑦 × 2𝑥 × 𝑦  

c)  7 – (–4)  o)  4𝑥 − 3𝑥𝑦 + 3𝑥2 − 6𝑥  

d)  – (
3

12
)2  p)  √64𝑚6  

e)  

 
q)  

20𝑥3𝑦−40𝑥𝑦2−10𝑥𝑦

−5𝑥𝑦
  

f)  
12𝑎2

3𝑎
  r)  −2𝑎2 + 3𝑎(𝑎)  

g)  (𝑎3𝑏0𝑐4)0  s)  
1; 8; 27; 64; ..... 

Tn = 

h)  (−6𝑎3𝑏2)2  t)  
a = -1; b = -3; c = 2 

(𝑎 + 𝑏 − 𝑐)2 = 

Los 𝒙 op: 

i) 2𝑥 + 1 = 11  
u)  Voltooi (indirekte eweredigheid) 

 j)  
5𝑥

−2
= 20  

 

k)  3𝑥 = 81  
v)  

volume = ..................... l)  

 
5𝑥 –  3 =  2𝑥 –  3  

 

 



  7 

 

 

a)  (22 + 2)3  m)  (−3𝑎)2 × (−2𝑎)3 × 2𝑎3  

b)  √1 − 
144

169
  n)  −4𝑥2𝑦(𝑥2 − 𝑥𝑦 −  2𝑦2)  

c)  (–5)( –3) – (–1)10  o)  −𝑥(2𝑥2 − 3𝑥) + 4𝑥2(−2)  

d)  1015 × 10−7 × 10  p)  
 

e)  
-5; -8; -11; -14; ..... 

Tn = 

Los 𝒙 op: 

q) 𝑥 − 3𝑥(2𝑥 + 1) = −6𝑥2 − 4  

f)  −2𝑎4  × 4𝑎3  
r)  2(3𝑥 − 4) − 𝑥 =  −13  

g)  
16𝑎2𝑏3

48𝑎𝑏
  

s)  5𝑥 − 7 + 2𝑥 = 3𝑥 + 11 + 6  

h)  √81𝑎16  
t)  4𝑥 – 4 – (2𝑥 + 1) =  𝑥 – 8  

i)  (3𝑎3𝑏2)3  u)  

 

𝑦 = ........ 𝑥  ....................... 
j)  3𝑥 − 3𝑥(−1)   

k)  
−4𝑥4+ 16𝑥3−8𝑥2

4𝑥2
  v)  

 
𝑥 = ....................°  (hoekom?) 

l)  
a = -1; b = 2; c = -3 

𝑎2 − 𝑏2 +  3𝑐2 = 
 

 


